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(1) Pax=pX, =9.96kPax0.200 =1.99kPa

Pp = PpXy = pp(1-x,)
=2.97kPax(1-0.200) = 2.38kPa

p= D+ pg =1.99kPa + 2.38kPa = 4.37kPa

(2) JVa =pA/p=prA /(prA+p;xB)
y, =0.200=9.96x, /[9.96x, +2.97(1—x,)]
x, =0.0694

P=PAX,+ PpXy
=[9.96x0.0694 + 2.97 x (1 - 0.0694)[kPa = 3.46kPa
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P =

Uei) = Hpe + RT In X p

kx,BxB
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uB(l)zu%(”-I-RTln X, +Ipe V>dp
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Beo)™ H%(1)+RT Inxg
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Ha) = uil(]) +RT Inx,

Roao)™ “?4(1)+RT Inx,
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Hpam)— X




3SERUFERTRNEAEG—HEER

Nernst/HCERE: &ARBRIFNERERE L ﬁEl’JT
BiRM®EAESR, IR AK AR, A2 EHE, 3

o

S BEE PR R HOREE 2 LA — 28
2 Bl iy MR E I R F LSS, #

il mup(a)=ug(p)

A -

X

—ET_‘%H?J‘, H Hjj %ﬁ

(@)= @)+ RTln@

18(a)+ RT In=23~7 "B(“)
C

b




™

S

SRB7

K, =

cs(B)

CB(“) —

- R EESRBIE YA IR E

A

14T

ZPUSEI P

RN, &




4.7 Wi EIR B

(colligative properties )

| HmaREKREY: SFIEELAYBRNES
BERSETEE. BaAs. RERTHEREEE
R&E?%ﬁmﬁg,mﬁmmmiﬁﬁim

zi*g’— SJER:  Ap=py—Pa = PrXs
R TT E AT, =T, -T =K, b,
AT AT =T~ T, = Kb,
‘s IT=c,RT

1.ZSETEE p,=pix,=p,0-x,)=pi-pix,
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Ap = PA_ pA prB
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WS B AR 2855 57) A R 1
Hao) = Hao) X, +dx, T+dT iEHHFE

Foao) F A1) = Hoa(y) + A1)
W dpy,y = dp

* * a ) %
Hawy=JTP) ap’y, =( g‘;()} dT = =S, 44T

p

Ha) = f(T,p,x) Ha) = ,Uj;(l) + RT In X 4

ou ou
du )= ( a;w(l)} ar + (aTA(I)] dx
p>x 4 Jpr

d.
= —SA(l)dT+RT 4

X 4
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AfusH:;z,A 1
R T

Inx, =-—

Inx =ln(1—xB)=—xB
x p IR /Y ln(l—xB)z—xB
b amp, 1,7 ~()

* ~ 0
AfusHm,A 0~ AfusHm,A

=1/MA+bB
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